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PART-1: MENTAL ABILITY TEST
(For Students of Class X)
Time : 120 Minutes Max. Marks : 100
INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you

open the question booklet.

1. Answers are to be given on the same OMR Answer
Sheet provided for Part-1.

2. There are 100 questions in this test. All are
compulsory.

3. This booklet contains questions on Mental Ability
Test.

4. Choose the correct answer from the options given
for each question and darken the corresponding
circle with black ball point pen in the OMR Answer
Sheet.

5. Since the time allotted for this Question Paper is
very limited you should make the best use of it by
not spending too much time on any one question.

6. If you do not know the answer to any question, do not
waste time on it and pass on to the next one. If time
permits, you can come back to the questions, which
you have left in the first instance and attempt them.

7. Rough work can be done anywhere in the Question
Booklet but not on the OMR Sheet/loose paper.

8. Every correct answer will be awarded one mark.

9. Please return the OMR Answer Sheet only to the
invigilator after completion of the test. You can
retain the Question Booklets.

10.English version of the Question Paper will be
considered as final in case of any dispute arising
out of variation in translated version.

11. Quote your seven digit Roll Number without fail for
any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.
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MENTAL ABILITY TEST / wengdlpest Ggiey

Direction : (Question number 1 - 5)

In each question the numbers/letters are
arranged in a sequence based on certain
principle. Select the answer from the four
alternatives given under each sequence for the

term marked by ?

!

1. 19,24,31,42,55,72, 7

(1) 83 2) 89
3) 91 4) 93

2. 10,58,105, 2 196, 240, ...
(1) 150 @) 151
(3) 154 (4) 147

3. ZWRK 2 _

A1) B )
3) D @ A

4. 1,4,13, 40,121, 2
1) 202 @) 364
(3) 148 4) 210

5. 0,1,23,6,11,20, ?

(1) 31 2) 34
@) 37 4) 22

euflpenm : (eNewrr e165uT 1 - 5)
Epssranh  ellarssafldy  eraraer/
T(PSHFIEHET e G eNdludlcoritg.
auflensliLhgsinl (hererer. GCaeralg@ml ?
@@Ll péter @Lsdle sflurg CUTBHSE
Falq Ul eTeqTantlenen/er(pddlenern Clsm(H&sL
Ll (erer 4 wwrHy aleLsafled bl
CaibolsHEsHe L.

1. 19,24,31,42,55,72, _ 7

(1) 83 2) 89
3) 91 4) 93

2. 10,58,105 7 196, 240, ..
(1) 150 (2) 151
(3) 154 (4) 147

3. Z,W,RK _?

@ B (2
3) D @ A

4. 1,4, 13,40, 121, _?

1) 202 @2) 364
(3) 148 4) 210

5. 0,1,23,6,11,20, 2
1 31 - 2) 34
3) 37 4) 22
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Direction : (Question number 6 and 7)

The diagram and the numbers/letters follow
certain principle. Select the missing number/
letter indicated by question mark ?

6. 6,7,10,8,16,15,26,23,42,638,68, _ ?

1) 61 2) 80
(3) 106 @) 120
7 2 7 7
5379i 11162] 3 17188 2
6 5 5
1) 20 @) 59
@3) 85 @) 10

Direction : (Question number 8 - 15)

First two terms are connected by some
relationship. The same relationship is applicable
for the next terms in which one is blank space.
Identify the suitable term from the given four
alternatives for the blank space.

8. PEN : WRITING : : CYCLE :
(1) REPAIRING (2) CAR

(3) RIDING (4) ROAD

aufi(penm : (ellestm sT6tor 6 LOHMID 7)

EPESTEDID eUENTLILILBISET 6TamsHerTe/
TpSgEseTred GONA L aNludleniig
Slew&sliu_hHdrergl. arhsasiul(herer
eflenrsaeticr ? Gdlud L QL sms
Hlepmey Glewiu|bd erameniienan/er(psdenar
CaThllsHhaseyb.

6. 6,7,10,8,16,15,26,23,42,38,68, _ ?

1) 61 2) 80
(B) 106 4) 120
7 2 7 7
537/9| [11]62|3]| [17]88]?
6 6 5
1) 20 2) 59
(3) 85 @) 10

euflpemm : (eNewrm e16zur 8 - 15)

&G Qar@ssiiulHerarmaisaies wpsHo
@rewr( omulsdar  @@m  euamsulle
Qamri_fyuBés Ll (Hereren. 2G5
QsTLrCL HSS Q@ 2 ML EEHSEGLD
GumrmbgIb. elBulL QL sSHeE sflwmrer
o muberer EpsEHund_@earer Bres,
wron eSensafledlmbs r(HS6ESHSIs.

8. PEN: WRITING : : CYCLE :

(1) REPAIRING (2) CAR

(3) RIDING (4) ROAD




10.

11.

12.

13.

EYE : FACE : :

(1) RING : FINGER
(2) STEM : ROOT
(3). KNOB : DOOR
(4) SHOE : FOOT

WING : BEAK : :

(1) BUTTON : SHIRT

(2) PLUTO : VENUS
(3) HOUSE : CHIMNEY
(4) BIRD : CAGE

ROOM : HOUSE : :

(1) REFRIGERATOR : KITCHEN
(2) CHAIR : ROOM

(3) ROOF : BUILDING

(4) WHEEL : CHAIR

5:29:: 7 :41
(1) 30 (2) 6
@ 7 4) 4

CANADA : DOLLAR : : GERMANY :

(1) YEN
(2) DOLLAR

(3 DEUTSCHE MARK
(4) RIYAL

10.

11.

12.

13.
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EYE : FACE : :

(1) RING : FINGER
(2) STEM : ROOT
(3) KNOB : DOOR
(4) SHOE : FOOT

WING : BEAK : :

(1) BUTTON : SHIRT
(2) PLUTO : VENUS

(3) HOUSE : CHIMNEY
(4) BIRD : CAGE

ROOM : HOUSE ::

(1) REFRIGERATOR : KITCHEN
(2) CHAIR : ROOM

(3) ROOF : BUILDING

(4) WHEEL : CHAIR

5:29:: ? :41
(1) 30 2y 6
G 7 “4) 4

CANADA : DOLLAR : : GERMANY :

(1) YEN

(2) DOLLAR

(3) DEUTSCHE MARK
(4) RIYAL
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14. CARBOHYDRATE : POTATO : : FAT :

(1) CARROT )
(3) WATER (4)

TOMATO
GHEE

15. DAVIS CUP : LAWN TENNIS :
DEODHAR TROPHY : ___
(1) FOOTBALL
(2) CRICKET
,(3) HOCKEY
(4) SHUTTLE COCK

16. There are four prime numbers written in
ascending order. The product of the first
three is 1001 and that of the last three is
2431. The last number is :

@y 1 ) 19
3) 23 4) 13

17. The largest number which divides 62, 132
and 237 to leave the same remainder in
each case is :

(1) 51 (2y 35
3) 8 (4) 53

18. Traffic lights at three different road
crossings change after every 48 sec, 72 sec
and 108 sec respectively. If they all change
simultaneously at 7 : 00 : 00 hours then at
what time will they again change
simultaneously ?

(1) 7:14:00 Hrs
(2) 7:14:12Hrs
(3) 7:07:12Hrs
(4) 7:09:12 Hrs

14.

15.

16.

17.

18.

CARBOHYDRATE : POTATO : : FAT :

(1) CARROT (2) TOMATO
(3) WATER (4) GHEE
DAVIS CUP : LAWN TENNIS :

DEODHAR TROPHY :
(1) FOOTBALL
(2) CRICKET
(3) HOCKEY
(4) SHUTTLE COCK

BITETE ST eTewder (b eurfleangudied
o _GTETEr. (PGS eperm 6 6vr s aifl 6o
CL@mEs 1001 wHmID SevL &l eperm)
craprsatlen CLmESD 2431 erafled
FenL.& erem :

1) 17 2) 19

@) 23 4) 13

62, 132 wPmbL 237 Yy flui TarSamerT
al@sg s B Qarhésssmg
WlsLCLfin eregr.

(1) 51 (2) 35

3) 8 (4) 53

pperm Frened FhdllLGsefled 2 drer
Curs@eursg Frré@ eflerd@saen
geuGlaummm 48 &, 72 &fl. wHmLD

108 &Sl LrINHSTDE.  Deneu
Slenarsgid 7 : 00 : 00 wentléga wrd
GEOHSTH  LHUGUD  RETDITE

THSEMET OGNIEE, WM ?
(1) 7:14:00 wewd
(2)  7:14:12 weed
(3) 707 :12 wenfl
(4)  7:09:12 wewnfl




19.

22.

A student got twice as many sums wrong
as he got right. If he attended 60 sums in
all, how many did he solve correctly ?

(1) 12 (2) 16
(3) 24 4) 20
1 1 1 1
+ + i F =7
5x6 6Xx7 7%X8 24 %25
1) 0.36 ) 0.16
-(3) 0.016 4) 1.6
2x 4 .
If — 3 =3 then the value of x is :
Tt ———
T+
1—x
y 2 ) °
®) 2 @ 3

If X means +, + means —, — means X
and + means + then 36+18+9-3x26

is:
(1) —40 (2) 78

@) -1 @ 1

19,

20.

21.

22,
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@@H Wraweler FHwrs e Smay b
& GOT & (5 & 6| 601
Gurermy @QMmLLKG saupTs SiTey
srawdlpri. erafle Crssd 60
sams@sate eflwurs Srey &mreamib
SENTEHGS6TeN eTamantGand :

T T 6B0Tl & 60 & 6 il

(1 12 (2) 16
(3) 24 @) 20
1 1,1 I
56 6X7 7X8 24 x25
(1) 0.36 2) 0.16
(3) 0.016 4) 1.6
& =3 erafled x-ei iy
1+ P
T+—
1—x
y 2 ) 2
M 2 @ <
3 = g 2
®) < O

X ereug +, +
revLg X, + eremug + erafle,
36+18+9~-3%26 -m& STAS.

remugy —, -

1) -40 2) 78

@) -1 @ 1
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23.

24.

25.

26.

Notebooks were distributed equally among
children of a class. The notebooks each
child got was one-eighth of the number of
children. If the number of children is half,
each child would have got-16 notebooks.
The total number of notebooks distributed
is :

1) 512 @) 312
3) 248 (4) 428
_5+a J5 — /4

Ifx—m and y=m then
x2+y2 is :

(1) 322 (2) 100

(3) 312 4) 845

If /13 =3605 and 130 =11.40 find

J1.3 + V1300 + 4/0.013 :

(1) 37.34 (2) 37.034

(3) 37.0034 (4 37.304
S SRR S

J9-V8 8-V7 J7-6
SRS S

J6 -5 J5-&

1 8 2 5

3) 3 4 -3

23.

24,

25.

26.

(. 6UG LI GIETET LDITEwT6U T8 (@5 S
Crpri(h) LUsssmseT snors eflss
LB Eearpar. eelblelmm rewr e LW
Gumid CrrLBULSSHBISET, 06w -
cufrgafien Qorgg erementisans -21; LITh (S,
wresreuiTseflar eramenilsansamul &ifl
urgluns GophsTed  eeubleumm
wremeu®d 16 CrTi (Bl LUSSSmISET
Qumalr erafle eflssliu L Crri(h
Lgsanigailen Clorgs eramanilsms :

1) 512 @) 312
(3) 248 (4) 428
R o _ -4
B oJa opow YEELTE
eTafleh x2+y? -ar WLy :
1) 322 @) 100
(3) 312 4) 845
J13 =3605 OOHMD 130 =11.40
eT &l 6 J1.3 + V1300 + +/0.013 - &
oy
(1) 37.34 (2) 37.034
(3) 37.0034 4) 37.304
S U B
J9-¥8 BT J7-16
1 — 4+ 1 =7
J6 -5 5-4
M B @ 5

G 3 4 -3




7.

28.

29,

(0.03)> +(0.21)* +(0.065)*
(0.003)% +(0.021)> +(0.0065)*

(1) 11—0 @) 100
1
3) 10 @ T

A lead pencil is in the shape of right
circular cylinder. The pencil is 28 cm long
and its radius is 3 mm. If the lead is of

radius 1 mm, the volume of the wood used

s : le‘
(1) 0.352 cm3 (2) 7.04 cm®
(3) 352cm® (4) 704 cm®

The difference between a two digit number
and the number obtained by interchanging
the positions of its digits is 36. The
difference between the two digits of that

number is :

27.

28.

29.
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(0.03)% +(0.21)% +(0.065)>

=2
(0.003)2 +(0.021) +(0.0065)>

(1) 11—0 @) 100
1
(®) 10 @ T

@m &sriw Quardld GCpr eul L
2 (Hever ligeNed 2 dTang). Bigen Herb
28 Qg.18. sigan <rib 3 .5, oigeaer
2 arem srfwsden <urb 1 6115, erafle
LG ueamfleney Qeuiw LwesTull L
LOTSIH6T ST B6TEY :

(1) 0352 cm? (2) 7.04 cm?
(3) 3.52 cm? (4) 70.4 cm?®
Rf Q| Qo&s erarafipdh

jculeuamaniléy 2 6Tem @)eV&HSHEIFHEET

Sisen  @LmsaldlmbsE  WwrHD
SoLEGL eramaliD@GL 2 eTer
gHurgid 36. 2AHBS @QO&HSHMB-

seflen_LIUL L elSSHwmrgd :
1) 4 2 3

3) 6 | ORI
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30.

31.

32,

A and B are two stations 390 km apart. A

train starts from A at 10 am and travels
towards B at 65 kmph. Another train
starts from B at 11 am and travels towards
A at 35 kmph. At what time do they

meet ?

1) 3.15 pm (2) 215 pm

(3) 4.15 pm (4) 1215 pm

A cone, a hemisphere and a cylinder have
equal bases. If the heights of the cone and
the cylinder are equal to its common
radius, then the ratio between their

volumes is :
(1) 2:3:1 (2) 3:2:1
3 1:2:3 4 2:1:3

One side of a rhombus is 20 cm and one
diagonal is 24 cm. Find the area of the
rhombus.

(1) 200 cm? (2) 384 cm?

(3) 288 cm? (4) 348 cm?

10

30.

31.

32.

A wpmb B ereruer 390 &5,
@enL Geuaflufier o erer @(m @ ruldled
Bleveowhiser. g CSTLT 66Ty
st 10 wallég A-udBHg
a4l B -y Crrsdl wanflég 65 §.05.
Ceussdler Lweiadpg wHGDI®
Qam_im euairig. B -ulleSl(ppg srene 11
wentls@ Hordidl A -g3 Crradl wanflég
35 &.8. Gauasde LweallsHmng.
Sjene erLCLITG FHSlE@EHWD ?

(1) 3.15 pm (2) 215 pm

(3) 415 pm (4) 1215 pm

6( FalbL], @ eFSCETETD DHIYLD
o (HaneT @QeuDMieT <iiqLiiimrg mis e
FOID. b6 e wrephd, 2 (menerudlerr
2gepd Staupdler sig 2ATESDES
FOWL  eafle Jymeusaficnr s
Sjeroysefien alldlsmigar :

(1) 2:3:1 2) 3:2:1

@) 1:2:3 4) 2:1:3

Tl sgIrsHen @ UGS 20 Qb
QRO epomecllL Bera 24 Q..
eTarfled, <Bigett LiFliL]

(1) 200 Gls.b.2 (2) 384 Gl&.b.?

(3) 288 Q&2 (4) 348 Qg.b.?




Direction : (Question number 33 - 37)

If the English alphabets A to Z have numerical
value from 0 to 25 respectively denoted by
v(A)=0; y(B)=1, etc. y(z) =25 and sum of two
alphabets a and b is defined as a+b=c if
v(c)=+v(a) +y(b) then answer the question
33 - 37.

33, E+K=?
1 O 2 M
3) N @4 P
34. B+U=?
(1) U 2) W
3y V @) X
35, A+C+F=?
1 O @ G
3) H 4) 1
36. L—-S=7
1 U @ T
3) R 4) S
37. -D-P=?
1 1 (2) ]
@) H (4) K

11
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auLl(penm : (eNestm 61evvT 33 - 37)

SBdlo  TssEsaT A (psd  Z
euenyullemeneuDmIs@ eTel WHiL] 0 (1pHed
25 aueni @GOlEsULIGE D). emer y(A)=0;
v(B)=1, y(z) =25 eremuigrs 2 arenrblsefler ‘a
wHnIb b erem @) T(pSGISsatan salhse)
atb=c, y(c)zy(a)+'y(b) erafled Spssanri
eSleT& & EhsE eflenLiafl.

33, E+K=?
1 o @ M
3) N (4) P
34. B+U=?
(1) © 2) W
Y 4 X
35. A+C+F=?
(1) © 2 G
(3) H 4) I
36. L-S=7
(1) U @ T
(3) @ s
37. —-D-P=?
(1) 1 @ ]
3) H 4) K
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38.

39.

40.

41.

42,

In a certain code GOOD is written as JRRG
and JACK is written as MDFEN, then FRUIT
is written as :

IUYLW
TUXMW

TUXLW
IVXLW

3y
@3)

2)
{4)

In a certain code ]UNGLE is written as
JNLEGU then FOREST is written as :

ROFEST
TSEROF

FORTSE
FRSTEO

(1)
3)

(2)

@)

The 10" consonant from the firsi
consonant of the English alphabet is :

(1) N
Gy Q

2 M
4 R

What letters appear in ECONOMY and
not in SECOND ?

NM
CN

1) MY
3) EY

(2)
(4)

Which letter would divide the letters
between N and Z into two equal halves ?

1 v @ I
@ T 4 W

12

38.

39.

-40.

41.

42.

gCasaib @m ams GOHUTC g
GOOD eraniig JRRG erenajib JACK
erawLig) MDFN éraayid e (p&LiLi L red
FRUIT -85 ereneiieuns er(Lpseomb ?
(1) IUYLW (2) IUXLW

(@) IUXMW 4) IVXLW

@1 euens GO g6 TUNGLE eréimLigy
JNLEGU ereu er¢pgriniiLmev FOREST
GTEMLIENS GTEUAIN 6T(LHSEMD ?

(1) ROFEST (2) FORTSE

(3) TSEROF (4) FRSTEO

Y hfle apsgssaiea uflensudie
(alphabet) wswraig GwUGLIS
$lal@mbg (consonant) 10 U TS
eupdaalgul GoEw(psg (consonant)
eraaTen ?
1 N

G Q @ R

ECONOMY erétmp eurigengufled o erar
wiomitb SECOND erennm eumirgenguldled
Qers T(PSSIESET :

1) MY 2) NM
(3) EY 4) CN
N wpmpow Z Qeupdleni il

T(PSGIEFHEET FOWOTE (B ET(LDS5S
Tl ?
a v | 2) 1

@) T 4 W




Direction : (Question number 43 - 46)

Pick the odd item from the following sets.

43.

44.

45.

46.

Buddhism

Pessimism

Hunger
Vegetables

King

Princess

Egypt
China

Jainism

Hinduism

Cakes

Pastries

Queen

Labourer

West Bengal

India

Direction : (Question number 47 - 54)

Figures A and B are related in some manner. In
the same manner figures C and D are related.
Choose the figure D in the given four

alternatives.
47, O v | O <
- - 2
A O
(A) (B) (©) (D)
> O
O | Aala | O|O P>

(D (2) (3) 4)

[CODE| X | T |18 |

auflpenm : (eNevrm eTevwr 43 - 46)

Spssar_ Qurmlseaiier QuTmSSLDDMS

Buddhism

Pessimism

Hunger
Vegetables

King

Princess

Egypt

CaibEs®H.
43. (1)
(3)
4. (1)
(3)
45. (1)
€)
6. (1)
©)

China

Jainism

Hinduism

Cakes

Pastries

Queen

Labourer

West Bengeﬂ
India

auLfl(penm : (elestm eretT 47 - 54)

A wpmid B LIL_BI&ET ¢(h euanaulidd GQgmi
LGS [DeTaTer. Hem <2l _uile
C pmid D -wyid Ggmrfy u@ssi-

(hererer. Qa&TR&EesLUL R drer
wron  ellenLgafle

-lenang CsMHoIS([HEHaLD.

47.

13

Bren @

@mpg UL D

O v | O <
- - 2
A O
@ ® © O
O
O AN | O >
o @ 6 o
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48,
ololm] -
s (®) © (D)
(1) @ 6 @

0. = ;\ ey,
A) (B) © ()

= == [
(I 1 A
(1) (2) ®) @

50. * .
OHo O *

N * | %
) (B) (©) D)
* | %
Ol [CH @ | 1Ok
* . * 2
) 2) 3) 4)

49,

50.

EEIEIR
) (B) (@) (D)
=
T © (3) (4)
=7,
____J o
A (B) (C) (D)
= m
TN T
0 ) (3) 4)
SIEICE
(A) (B) (@) (D)
J Ol | O : @ @A
B 7) ) @




51.

52,

53.

CHG 8| 2
@  ® © O
Aol
n  ® 06 @
916 | |2
@  ® © O
I
O @ 6 @

dz
D L@D =1 2 s
@ ® © O
— 1 [ S
n @ .60 @

51.

52.

53.

15
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C | C A2
(A) (B) (© (D)
I
@ 2 ©) 4)
916 !¢
(A) (B) (©) D)
Rl
M ) (3) (4)
Gﬂ | = 2
(A) (B) ©) (D)
1) 2 ©) (4)
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54.

© | Q
@  ® © @

(1) 2 «(3) (4)

Direction : (Question number 55 - 58)

All the four figures in the set of problem figures
have a definite sequence. Discover the sequence
and pick-up one figure from answer figures that

completes the series.

55.

b

16

54.

suldll(wemn : (eSlevtn eT6vvT 55 - 58)

el
2 (heUBIGET ¢p SlLLrer CgrLeanys

2 (HeUMSENe) 2 6TeT  [BT6(E

ClaramHeararar. epennd &en LN HF

ellenL_ullgierer ClUMBSSIOTET ASCSTL6n]

Blevmay Q&b 2 (Hheusans
CaHolEHESLD.
55.

b

F

D 2

D

<8

d

1)

2

3)




56.

57.

58.

Al

i
L. -
milE &
O @ B o
Al A ?
ol | A |3 @
o o 6 O
7 to T |2
d o & @

56.

57.

58.

17
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Direction : (Question number 59 and 60)

Pick the figure not in same category.

59.

60.

Direction : (Question number 61 - 64)

Match the following based on common

characteristics :
O
Ooo0 0O
[o}Ne]
61. A M o 4
62.
63.
64.

18

eudlpem : (eNlesTm sT6vdT 59 LOHMLD 60)

@Cr auemswHp o (Heusans GCHibolsH&-
H&LD.

59.

60. .

o o)
(@] o] O

(2) (5) (4)

(1)

euLfl(enm : (eSlestm s16voT 61 - 64)
Qurgeurar @GearrdlFukiseter gLl
ueLudled 2 (Heumisemer GILIMHES)s.

ol B! w5
w|B] o
o« | @] o
(@] - &




65. First two words are related to each other.

Choose the word which bears the same
relationship.

Monk : Brotherhood : : letter :
(1) jumble (2) gang
(3) album #4) budget
Direction : (Question number 66 - 70)
. Read the following information carefully and
answer the question.
(i) Five persons ], K, L, M and N participated

in a quiz contest.

One is master of sports, one is master of

@
current events and one is master of art and

culture.

] and M are unmarried ladies and do not
hold command in any subject.

N is the husband in a married couple.

K is the brother of L and is neither master

of current events nor art and culture.

none of the ladies has command over

current events and sports.

66. Who is the master of sports ?
1) M 2 L
3 7J () K

19
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65. WPsD Q@ UTTSHSHET &
GO euamslled QaamssL

LI (perergl. 3Gs auansudid G-

yeoLw  eurismsows Caib-
QFH&SSH6LD.

Monk : Brotherhood : : letter

(1} jumble (2) gang

(3) album (4) Dbudget

auldiwpenm : (el sr6msT 66 - 70)
EDEHEMTL. HeUTRISMET FEUGTOTE Lilg5s)
Nlenr&s@hE@ afleniwiaflgsa b.

G KL Muwppbd N 8w geut e

Gl &g, el e Guimigudled
Lk GCaHElemmeit.
() @@medi ellenemuiTiiqgeid R

BLUL Bispeysetigid whmid eheur
&66 60 Lo fH MmiLd LEDER T I
Hlujemggielid ©ls e _aurser.

J wpoid M Smoemwrar Cuerser.
SUTHE@HES Thes Slapullabd
Blijewsglalin @)eena.

Hpweanrid oy ereusefley N emeuiflen
&EHTEUIT

L-an sGargrr K piil flepeser
LHOD Sme wHnn BrefssHd
Bluemrggleud Gy (maseleana.
Thg QuamsEsDd Bl Blapesdr
wHMID efleperwiTitqed BHiLjanTdgielb
Qubiderene.

Geuaileurmisaner Carem® s serain-
m&E ellenwiaflEsaib.

66. oflenemuimiiqe) HlLjemr & &l e Lb
Clubmeur wiri ?
1) M 2 L
@) ] 4 K
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67. Who is the master of art and culture ? 67.
1) N (2 L
3 K 4 M

68. Who is the master of current events ? 68.
(1) N 2 M
&1 7 4 L

69. Wifeof Nis: 69.
(1) K
2 ]
(8) Data inadequate
4) L

70. The three ladies are : 70.
(1) J, Kand M

(2) J,KandL
(3) J,LandM
(4) K LandM

71. If Ais brother of F and F is the daughter of 71.

D and P is brother of D. How is P related

to A?
(1) Father

(2)  Uncle

(3) Grand-father
(4)

4 Co-brother

20

sene wHMD Brafasdad HApiy
Cudhmeur wirf ?

1) N 2 L
3) K @) M

BLUL Blapeysaid flyarggiesid
Cuppeurt wrf ?

(1) N 2) M
3 ] ' (4) L

N-&1 thenenmal :

1) K

2 1]

() sre Gurgrargeea
4 L

ey GlLIGRTSET
(1) I K opmib M
(2) J Kopgw L

3) 71 Luwpmw M

)
(4) K L wppi M

If A is brother of F and F is the daughter of
D and P is brother of D. How is P related
to A?

(1) Father

(2) Uncle

(3) "Grand-father
(4) Co-brother
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Direction : (Question number 72 - 75)

Observe the diagram carefully and answer the

following questions :

Let A - denote the set of persons who speak Tamil
B - who speak English

C - Who speak Malayalam and

D - Set of people who speak Telugu

72. The number of people who can speak both

Tamil and English is :
(1) 12 (2 4
3 1 4y 6

73. Find the number of people who can speak

English, Malayalam and Telugu.

(1) 4 2 9
(3 6 (4) 82
74. Find the number of people who can speak
either English or Malayalam.
(1) 66 (2 53
(3) 60 (4) 56

21
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eutplpenp : (eSlesr erevor 72 - 75)

&G Qasr@ésiiul_[Berer LLSang B
saalss Car@estiul.@erer ellenrs
sEn5E ellepwefl.

12 B
1

21

A - s18lp CuEFLIGITEET SarTLd
B - gymidleod CLIGLIGUTHET HauTid
C - wepewimemid CUFLIGITSHET SHemTLd

D - Qgaiki@ CuUsHLIeuirseT SeanTh

72. SO wHmD gy midlon CuaUeTseT
ergsenet G ?
1) 12 @) 4
G 1 4) 6

73. ypmdebd, wepeWTETd WLHDHLD
QFeBi@ CLigLIeTEET crgHenar GLIT ?
(1) 4 2) 9
3) 6 4) 82

74. S BIFOL YOO DO WTETD
Cuaueurser erggener GLiT ?
(1) 66 2) 53
3) 60 4) 56
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75. If the total population is 100, how many
do not speak either language ?

1 2 @ 0

@) 1 (4) 4

Direction : (Question number 76 and 77)

76. Find the missing terms in the table which

follows some pattern.

5 7 ;
3 4 12
6 Y 18
11 Y 99

(1) x=3, y=35
@) x=35 y=3
3) x=12, y=12

(4) Data insufficient

77. 0 | —21 2

21016
5 |61 0
1 5 @) -5

75. Qrggs pursear 100 erefled 6
Qomplujd CueTserseT erggeanet Gt ?

1 2 (2 0

) 1 4) 4

eudlpewm : (eSlest 616881 76 WHMID 77)

76. SpssamL L eaimenruied o_arer
o mLLser gCa@ib @ aumsea
Glaramrhereng. @einmled 68k uL L
CTEOTEHENGIT &TGTS.

5 7 x
3 4 12
6 ] 18
11 9 99

(1) x=3,y=35
(2) x=35 y=3
3) x=12,y=12

(4) sroyser GUIELTEIFSTS QOO

77 o [ —2] 2

210 |6

51 -60
@ 5 (2) -5
3) 4 4) -4




78. Select any one alternative whose alphabets
when placed at the missing places,

complete the series.

a_aa_a_baa_ aaba
(1) bbba (2) bbab
(3) Dbbaa (4) baab

Direction : (Question number 79 and 80)

Find the water image of the following questions.

79. The water image of APPLE79 is :
(1) ABBI'AN6 ~ (2) VLLIEMNG
3) Vvddrexe (4) AddTE)N6
80. TRUTH
(1) LBNLH (2) 1ianiH
@) LBNTH 4 TINTH

Direction : (Question number 81 - 84)

Read the relations carefully and answer the
questions.

L is greater than
A is smaller than
© is equal to

# is not equal to

8l. HAUOB;CABandD OC then:
(1) CAA 2 DOA
i C#ED 4) AOC

23
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78. Swpssranibd wrpmelensafld qemen

CarbOsOds NHLUIULL eTpSdlensl

Qurmsd GQsrifleoal Liss
CEieyLd.

a_aa_a _baa _ aaba

(1) bbba (2) bbab

(3) bbaa (4) baab

auflapeny : (efew eT6vT 79 HMILD 80)

EpsasarL. elamssl @ Bld GibLsmss

ST .

79. APPLE79 eremiflen B [ bLib
(1) ABBIIN6  (2) VBLIEMG
() VddreEle (4 AddTE)6
80. TRUTH
(1) LENLH (2) 1¥N1H
3) LENTH 4) TINTH

euflapemm : (eflewrn e16vor 81 - 84)

QS mTLrL|&ener 15601 (5 &6 &l & g

ellenr&asEneE ellenL el :
O ity Cuiflusg

A eflg Aluig,

© &wIDd

# FLDLOGLE

81. AOB;CAB wpmd DOC erafle :
(1) CAA " (2 DOA
3 C#D (4) AOC
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82, IFA#FC;CABandB ©® A then:

1 AOC | QY AAC

3) BULA ’(4) AOC
83. fAAC BOCandB © E then:

(1) ALE (2 AAE
(3) AOE (4)

AOB

84, AU O and AB L[] AC then:
1) (A+B)O(C+D)
(2) (B+D) © (C+D)

3) (B+D)O(C+D)

4) (B+D) A(C+D)

24

82.

83.

84.

A #C;CAB Lpmd BO A erafle :
1) AOC 2) AAC
3 BOA @) AOC
AACBOC whmidb B O E erasfléd :
(1) AOE 2) AAE
3 AGE (4 AOB
ATO wpmid ABTAC eranCGeu :
(1) (A+B)O(C+D)

2) (B+D) O (C+D)

(3) (B+D)UO(C+D)

(4) (B+D) A(C+D)




Direction : (Question number 85 - 89)

Read the statements and answer the questions.

. A family consists of 6 members P, Q, R, S,

T and U.

(ii) The family consists of only two female

members.
(iiij) S is father of R, who is brother of T.
(iv) T is daughter of U.
(v) Qand P are grandsons of S.

(vi) PisasonofT.

85. The female members of the family are :

1) TandR (2) Tand U

B3 TandP (4) TandS
86. The relationship of Sto U is:
(1) husband (2)

daughter

(3) son (4) wife

87. The relationship of P to Q is :
(1) sister (2) father

(3) brother (4) mother

25

[CODE] X | T |18 |

aufi(peny : (eNewn er6veT 85 - 89)

EpsaarL QFd ecursHumisamer HeE

Lig g ellenmésens@ aflenl e :

(@)

(i)

(1)
(iv)
(v)
(vi)

85.

86.

87.

@M GOLUSHD odTeT YW
o mublerrger P, Q, R, S, T wpmid U.

QéEGnussla Qran®  Cluar

2 mndenrger L (b 2 6TemeT.
T -6 C&HMSTT R -6 HHEOS S.

U -eor oser T.

S -ar Guremaer Q OHMID P.

T -67 o&e P.

GICIEEY: SN o_GTem (ol L gt
2 pideniger

(1) Tuwpmwo R (2) Tuwopmb U
(3) T womid P (4) T wHpmibd S

S erevriaut U -6, eresen o ney ?
(1) sewToum (2) s

(3) wsen (4) wenarel
P eremuieurr Q -6l eremian 2 mey ?
(1) &Csrsh 2) sHOS

B) sCargyr (4) smu




[CODE| X [ 1 |18]

88.

89.

90.

The male members of the family are :

(1) SR QP 2 P,QRU
B) QRUT (4) P,RST
T is a sister of :

1 U (2 R

3 Q 4 P

Mahesh starts walking towards east and
after walking 30 m takes right turn and
walks again 30 m. Then he turns left and
walks 30 m. Again he takes left turn and
after walking 15 m finally turn to his left
and walks 60 m. How far and in which
direction is Mahesh from the starting

point ?

(1) 20 m North
(2) 30 m West
(3) 30 m South

(4) 15 m South

88.

89.

90.

GObLSSed 2 ctem yaT 2 miKIdenTseT
1) SRQP 2 P,QRU
3) QRUT 4) P,RST
T eremuieu Wn(mé@ sCHmsh ?

®H U 2 R

3 Q @ P

wCsay Hps@ Crrad 30 5 gir
BLBSUnG eeg Lo S
Besor(Hid 30 f prsdlpmi. 9nE @)L,
Lo Hbd 30 B8 prsflpri D,

SarhHid @Lgypbd HepwlE 15

BLESEDTT. sepLHAwrs QL gy
A 60 S BLsSlpri. Ggrimid
Hereflulled (mbaEl ereucuene] &irsHdl
Ths Hevauller wCaey o erermT ?

(1) 20 S el
(2) 30 8 Guhe
3) 30 .8 Czpes

4) 158 CAzpe
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Direction : (Question number 91 and 92)

Two statements (i) and (ii) are followed by two
conclusions numbered (I) and {II). Choose the

option which logically follows :

91. Statements : 91.

()

(ii) All sheeps are cows.
Conclusions :
(I)  All cows are sheeps.
(Il) Some goats are cows.
(1) (D) only true

+(2) (1D only true
(3) (D and (1) are true
(4) Both (I) and (II) are not true

92. Statements : 92.

(i)  All mangces are apples.
(i) Some grapes are apples.
Conclusions :
() All apples are mangoes. /<
(If) Some apples are mangoes. /
(1) (0) only true
(2) () and (II) are true

.(3) (II) only true
(4) none of these are true

[CODE[ x [ 1 [18]

auflpenp (lemm&asen 91 wHmDL 92)

Gram® smposedr (i) wpmpd (i)
Qam_irpg @rer®H (wpigeysar (I wpmid (1)
Cer@ésluLl(heTerar. $(mEs pamulle

-8

ferLs@ pigemes CabHblsH.

Some goats are sheeps.

27

FnDMISHT

() So Ceudretr@aer Cawbwb-
wr(h&eErT.

(i) eréem Q&b wPluim( & EpLd
&S ST

(Pig6YS6T :

) eeoar usEHEHL GEFbLH -
WiT(H&eErT.

1) Heo CeucTenT(HSET 1IGFHHET.

1) O wi(bd 2 ameno

(2) () w (Kb 2 @TeMD

3) () womin (I) o amrento

@ @ wpgd ) Grer@u
2_GHTEN DU

FaDMIFHET :

(i) erebevm LoMBIGTWS(@HD <y, LI leTaer.

(i) Hle Slyriengser =y nderaer.

(Plg.e e

I ereoor < LHYeTE@RD T -
SIS

M) S < 196rsen wrbismlisdr.

1) @O wlECWw 2 e

(2) () womw (IT) e aweno

(3) @) LDL@@LD o_GHTEnLD

(4) GgIbd o @TENLDUIGE
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93.

94.

95.

The number of triangles in

is:

(1) 10 2) 4
(3) 6 4) 12

Two positions of dice are shown below.
How many points will appear on the

opposite to the face containing 5 ?

M 2 @ 1
(@) 2 (4 4

Which digit will appear on the face

opposite to the face with number 4 ?

3 6 4)

28

93.

94.

95.

eremy 2 (Heuddled o arer

wp&Carammsafian eramenflsemns :
(1) 10 @ 4

@) 6 4) 12

@ usaLular Qran® Hlenwsdr G

-

gramidss Ll (HeTeTan. 5 ereim (P&
wélliyerer LEsHSDE TGy 2 6rer

u&ssHled o_arer Liearallser arsFanar ?

< . A

e LY
1) 3 2 1
@) 2 (4) 4

4 eremp erawT@mieTer USSSHDG
e HCryerer LEESHSD 6THS erer
@mE@W0 ?

<

N4
(1) 3 ‘ 2 5

3) 6 @) 2/3




97.

96.

Find the mirror image of “MALAYALAM".

Find the mirror image of “EFFECTIVE”.

(1)

(2)

Find the mirror image of “MAGAZINE”.

MALAYALAM

MAJAYAIAM

WNVTVAVIVIN

MATAYATAM

gvVITOII9d

EVITCEFFE

JI9HOTIVH

HVITOIFAH

MAODAXIVH

HAIZAOAM

MAODAZIVIH

VIS ADAM

29
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“MALAYALAM” erestp eumimgengulle
STanTTly. [GDLSMNSE STETS.

(1)

2

)

(4)

MALAYALAM
MAJAYAJIAM
WVIVAVIVIA

MATAYATAM

“EFFECTIVE” ererty eumidensuilen
seRTemTiy. MDLSMEE STRTS.

(1)

(2)

(3)

4

JVITOI99d
EVITCEFFE
JI9HOTIVH

JVITOdFHd

“MAGAZINE” eranmm eumidensud e
sewTemTTlg. 1DLILD :

1)

2)

(3)

4

MAODAXIVH
HUIZADAM
MAODAZIVIA

JUIXADAM
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99.

100.

If a clock shows 6.45 AM, what is the angle
between the needles ?

L

(3

90° (2) 45°

22.5° (4)  67.5°

A ladder leaning against a vertical wall
makes an angle of 60° with the ground. If
the foot of the ladder is 3.5 m away from
the wall, the length of the ladder, is :

7m

1)

3) 14m

~-g0o0-

30

99.

100.

su&Tr5He® 6.45 AM erepybGuim,
HGHTY (PL_FET FHURSHID CHmemmd

(1) (2)
(3) (4)

90° 45°

22.5° 67.5°

@ el Cehigssrer seufler He
wlLgdled 60° Careamdans of
ubhSGHLTHY  FTUSS
LIL(HeTergl. 156 Silq &euladl(m b,
3.5 8 gpsdled e erenGgafled eranflud

Bemb

MeUES

(1) 7.8 (2) 358
7
3) 14 8 (4) NG 8

-0o0o0-
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PART - II : SCHOLASTIC APTITUDE TEST
(For Students of Class X)
Time : 120 Minutes Max. Marks : 100

INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you

open the Question Booklet.

1. Answers are to be given on the same OMR Answer
Sheet provided for Part-I.

2. There are 100 questions in this test. All are
compulsory.

3. The question numbers 101 - 120 belong to
Mathematics, 121 - 160 pertain to Science and
161 - 200 are Social Science subjects.

4. Choose the correct answer from the options given
for each question and darken the corresponding
circle with black ball point pen in the OMR Answer
Sheet.

5. Since the time allotted for this Question Paper is
very limited you should make the best use of it by
not spending too much time on any one question.

6. If you do not know the answer to any question, do not
waste time on it and pass on to the next one. If time
permits, you can come back to the questions, which
you have left in the first instance and attempt them.

7. Rough work can be done anywhere in the Question
Booklet but rot on the OMR sheet/loose paper.

8. Every correct answer will be awarded one mark.

9. TPlease return the OMR answer sheet only, to the
Invigilator after completion of the test. You can
retain the Question Booklets.

10.English version of the Question Paper will be
considered as final in case of any dispute arising
out of variation in translated version.

11. Quote your seven digit Roll Number without fail for
any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.

LGS - 1: ugLudleys Sper LGS Caiey
(LSBT GUEGLIL] LOTENTET&H(EH&ESHTEG) )
Gmrb : 120 Flll_miseT Qorss wHOCUeRTSHET : 100
Gsite sipgiLalTsEnsaTe eSSl (pepmas
eflewr prey QgrElamus HnILsHE e QarhdsIul_(HeTer

A penpaenar FeUATOTEL Lig S&6yLD.

1. v smear ugH-1 Corallng ampmsasiu OMR
ceo_ggreflGaCus Giisa CauamBb.

2. Q5Cgreliler 100 cllenrsger o cretar. simansHDHEn
s Lmwib eflenwefgasliuL Geuemm(pib.

3. &flenr eramraer 101 - 120 sanflg, 121 - 160 widleflwe,
161 - 200 #eps sidlewd LT Bismend srihbsena.

4. gauGearm dareiin@nd Gasr@asiu_Herer wrHy
eflenL_setledl(pHg Fflwmen eflenLullenens serrLMbgl, ians
OMR alaLgsrafler o flw el gde smuy fo
umeurulianm Guerreflemed 1t Coua(Hb.

5. @55 AammssTens@ @aIssuuLHeTer sTe NaTey Wk
@GDDEUTETHTE @ (HLILIGFE 6T (1 eNammelDHELD &b sed
Crramss Geoaufidarod Crrims Was fpbs epenpulla
UineTU(HSSeLD.

6. aareug e elenmelinG 2 maessa ellenL. Qsfluieiicoena
eranpred HHCwCGw sresliyubd Gelwurnd M55
eflenmalieg Gaaevayb. Gl mpete (psedler ol (HE Qe
cllemméaener apuibHd Qe id.

7. eflenLsanen samHlu Guop@arenenid euydapenpaamer eSlemr
md Qsrgule erhi@E Gauar@urarmgib Celg
Qaerdrereord. OMR - &feLggsrafiGar ioeg
gl g rafl Coom Qauinig sai_rg).

8. gaQeur@ sflwrer oL &@Ebd g wLHUGC LT
QUPBIGLILIHID.

9. Gsrey pubs 9@ OMR elenL_ggnener wL @b
Simpassssssnesfiiurenfl_tb QarBéseayb. sflesm mre
Qgn@lenu Briast siDSEIF Clesosusonid.

10.QurfGuwitiyd ugdie gCGsaib Camurhsdr
Garenflenmed eflenmsgrefen gy mdlal LEHCw @nduras
SHSLILHID.

11. gCGaaih s455 GarLry Qardarer Ceuatiws @bl
Fhuen 2 higamgl (P Qwss LSlCeumTmeTS HEuDTIOE
GO, )

usagHemSES HHLNIL LFeveafllsEss Clgm _mgeayib.
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- MATHEMATICS / &ewflgLd

1
4

1 1
101. The value of 9[ — +1253 H is :
643

102.

103.

104.

1 9 | (2) 3

3 81 4 99

If\/E+\/H—\/§=O,thentheva]_ueof

(m+n—p).2 is :
—mn

(1) mn (2)

(3) 2mn (4) 4 mn

If x2 +i2=14, then the value of

x
x3‘+xi31s

(1) 52 2) 42
3) 24 4) 25

The polynomials ax3+4x2+3x—4 and
x3 —4x + a leave the same remainder when
divided by x —3, then the value of a is :

1 -1 (2 -4

@) 4 @) 1

101.

102.

103.

104.

[9[—1—_] + 125%}] ~60T LOGILILY :
6473

® 9 ) 3
(3) 81 4) ot

(1) mn (2) —-mn
(3) 2mn (4) 4mn
1
x? + % =14  erevflev, X3+ —3 — 6t
x X

eIy
1) 52 2) 42
@) 24 4) 25

ax> +4x2+3x — 4 Hyid x> —4x+a g dHw
LeoRIMILIL  Gamremeis st x—3 -~ 6
uGSsLuELEUTYWS G WHamw
CETH&STev, a ~6ir Lol :
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105.

106.

107.

108.

The bisectors of ZB and ZC of a triangle
ABC meet at a point O. If ZA=60°, then
£BOC is :

(1) 30° @) 60°

(3) 90° 4) 120°

The side BC of AABC is produced to a point
D. The bisectors of ZABC and LACD

meet at point E. If ZBAC=60° then

ZBEC is:
(1y 15° (2) 30°
(3) 60° (4) 120°

AABC is an isosceles triangle in which
AB=AC. If the side BA is produced to D
such that AD=AB, then ZBCD is :

(1) 30° (2) 45°

3) 60° 4)  90°

In an A.P., the sum of m terms is equal to
n and the sum of n terms is equal to m,
then the sum of (m +n) terms is :

(1) m+n (2) —(m+n)

(3) (m-n) 4) (n-m)

105.

106.

107.

108.

&Gamsmorn ABC —60 £B oimid £C —er
@ subapsararg ystafl O —sb
shd&5HME. LA =60° aafln, £BOC
ST :

(1) 30° Q) 60°

3)  90° 4) 120°

AABC -0 UL BC —6or B wireorg Leerf]
D -ov andl&Hng. LABC womio LACD
-6t sGleuL g &6 Lsitafl E -60 sndleSingl.
ZBAC=60° stenfléy, £BEC gy 6078 :

1) 15° ) 30°

3)  60° 4)  120°

AABC s @l(heuuss (p&Gasmamrssln,
AB=AC 9. AD=AB sTeor
@msELry ussn BA —er Bl urars)
D -6 ah&ls&Eng) sTesflev £BCD gy 6umg) -

1 30° (2) 45°

@) 60° @) 90°

@ st Gsrir saufloguiied m
2 miiysefler F:OH0 n, WHOID n
2 mitiysefler (& m 6Tafley, (m+n)
2 Mt sefledr g (g6 :

(1) m+n () —(m+n)

(3) (m-n) (4)

(n —m)



109.

110.

111.

112.

If the roots of the equation
(a2+b?)x2—2b(a+c)x+(b?>+c%) =0 are
equal, then :

(1) 2b=a+c () b=

(3) b =ac (4)

A right triangle has hypotenuse of length
p cm and one side of length q cm. If
(p —q) =1, then the length of third side is :

(1) 2q+1 @ Jq+1
3) 2p+1 “4) Jp+1

The longest pole that can be kept in a room

of dimensions 5 mX4 mx2mis:

1)  9V5m 2) 6V5m

3) 3/5m 4)  53m

If the volume of a sphere is equal to its
surface area, then the circumference of a
cross sectional circle whose centre

coincides with the sphere is :
(1) 2w (2) 4w

(3) o (4) 8w

109.

110.

111.

112,
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(a2 +b?)x%—2b(a + c)x + (b2 +c?) =0 sT6dTMY
FLOGITLIML lg 68T CLPEVIBISHEIT FLOLD 6T6Bfl6b ©

(1) 2b=a+c @ b= 2

at+c

(3) b’=ac (4) b=ac

pw; OsmibGosram  (wé6e TS ser
sienTgHletr Bemomersl p Gl .f. Hmid ey
ussSSHler Heromrsrg q Ge.f. Guain
(p—q) =1 sterfled epsirmmeudsy LG Sl
hsmLomeTg) :

(1) 2q+1 2 J2q+1
@) 2p+1 @ Jp+1

5 x 418 x 216 —89 UGS mISaTTSHS ClameoTL

RO Impulse mausSIU@Dn R
slusSler gSlsu’ & Beromers) :

M o5 @ 6518

3) 3518 4) 53

R Coararsdler SearoeTeld o6
UmULTCiLLD sTevoTenenaleh &LoLomas @\ mlndlstr,
GCamsmgdler emiownd anfins o (maum@Ld

G QLGS eIl L SSetT SHmere :
1 2w (2) 4w
(3) 6w (4) 8
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113.

114.

115.

A circle is inscribed in a triangle ABC with
right angle at A. The length of the two
sides containing the right angle are 6 cm
and 8 cm respectively. The radius of the

circle is :

1) 2em
2) 6cm
(3) 8cm
4) 10 cm

A fair die is thrown once. The probability

of getting neither a prime nor a composite

number is :

1 1 2y 0
5 1

®) 2 @ 2

If the product of two zeroes of the
polynomial x® —6x2+11x — 6 is 2, then the
third zero is :

1 1 @) 2

G 3 4) 4

.M ST USemL

-

113. A- QemGaranurss Gerar® g

Wp&GeTamTd ABC -ullsd sp(m 2 6o’ L LD
2_6Teng). CFRICHTETSHET LSSHRIGaTI6T
Berrigsr (emmGw 6 Gl&.L8. whmid 8 Gle.Lf.
eT6ufled, QeI L ST Y LomeaTs;) :

(1) 2GQeb,
2)  6Qs.f.
(3) 8Gef,
4) 10 Qe

U CALH
o GLLOUGSDG). HE LG LHmILD LsT
Teor Sl ST @UuSHsTer

Bspsse ;

(1-) 1 @ 0

o | Ut
—
Iy
~—

L x3—6x24+11x—6 eTem  LOAIMILLS

Garemeuullesr @@y  yFHumisaflsr
QuBEGS Cerams 2 sreufle, cpermTaig)

L ESNLLOTEITS) :



116.

117.

118.

If the HCF of 55 and 22 is expressed in the
form of 55 m—22 X2 then the value of m
15

The graphs of the linear system x+y=1;
2x+2y=2 gives :

(1) no solution
(2)  unique solution
(3)  infinitely many solutions

(4)  two solutions

If tan6 = a , then the value of =

X /aZ +xZ

is:
(1) cosb (2) sind

(3) cosectd (4) sect

116. 55

|CODE| X | II 18]

whmits 22 —er  W.Gum.eu—ey
55 m—22 %2 eteory (pemmufled JsmLohsmen
m —64T LGl | :

1 2 2 1
3) 11 4) 22
. xty=1; C2x+2y=2 c%eﬁ]m

guerur(hismerd Glamsore Glamglillsr
auepTLIL-LD CamHitiug) :

(1) &y @evsmen

(2) 6T e Siey

(3)  ereuTeTtleVLTRIST ST 6T

@) @ren® Stossr

Ctan® = > gefld e g
X a? + 2%
LU &)
(1) cos® (2) sin®

(3) cosech (4) sechd
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119.

120.

The remainder when x"+n divided by

x—1is:

(1) n

(2) cannot be determined
(3) n+1

4) 0

Which of the following statements are not
true ?

(@) sum of two irrational numbers is

always irrational
(b) difference between two irrational

numbers 1s irrational

(c) product of two irrational numbers is

irrational

(d) quotient of two irrational numbers

is irrational
(1) (2) and () only
2 @ ) (@ and (@
@) (@) () and () only

(4) none of the above

119.

- 120.

aNtn — ¥ —1 -9 AIGSHS Sl &ELD

g :
1) n

(2)  omewET Qg

SEETEYILD FOmISaTled 6Temey 2 emorsmio
Jjsvev ?

(a) @\ efldsupmm ereorseflstr s (higev
alldlg oo steimTamTTeGou @\(mE @ LD

by @o Nfsynr aarseflar ols
gluirsly aNSlgupmm et T s S Gou

VG

© @0 dAHdsyor aarseafsr
QupsEs eSS sTemTasTTSGov
GG

(d) @\ aliSs o stevorsefleT 01E S50
ell&\gpmir eTetoTemTT & G6 @N(HS G

(1) (a), (b) G
2) @ (®) () (d)
3) (@, (b)) wilHm

(4)  ersiblsuemen




121.

122,

123.

|CODE| X | II | 18 |

SCIENCE / gjileSlwev

A car travels from Chennai to Bengaluru
with a speed of 60 km/hr and returns back
along the same path with a speed of
40 km/hr. The average speed of the car is

given by :
(1) 50 km/hr (2) 138 m/s
(3) 48 km/hr (4) 1728 m/s

What will be the percentage change in
momentum of a body when both its mass
and velocity are doubled ?

(1) 400 @) 75

(3) 500 (4) 300

The displacement-time graph for two
particles are shown in the figure. The ratio
of velocity of A to velocity of Bis:

- B
=)
el
g A
% R
A L0 N
Time (5)
1) 1 2) 3
® 3 @ B

121.

122,

123.

6 (I & ©l & st7 6w o7 U9) 631 (15 [ &l
QuiisEhBSE 60 &l.ub/wemfl Gous sl
Qeadngl. 9685 uramsuiley 40 &5/ osmwf)
steary GousGdler Slaploll sukhsemL Hmgi.
amflear enmaifl Gousid :

(1) 50 Hfhoewl  (2)  13.8 /e

(3) 48 Hlibhoewhl  (4)  172.8 /el

Q@ Gurmer qerdler dlevm LOHILD
SemsGaisd @rilpliurssiu®n Gurg
s 2hsHdle  THUGE  FHais
om@Ium) :

(1) 400 @) 75

(3) 500 (4) 300

@irstor () gisseraeflsir @ LGLILITES - STev
SUEDTLIL. LD CaT@&sUuL [HeTerg).
genaGaisly A wpmid HenaGauan B -6ir
aflisin :

»

h

5 B

%

B

g | A

G IR

7

G 30° s

&meutd ()

1 1 (2 3
‘1

®) 3 @
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124. The velocity - time graph of a body moving

along a straight line is shown below. The
acceleration of the body along OA, AB and
BCis :

1
© 15
g
210t 3
O
=2
25
C
0 > X
0 2 4 6 8 10
Time (S)

(1) 5m/s% 0, —5m/s?
(2) -5 m/s? 0, +5 m/s?
(3) 5m/s% 1.6 m/s?, —5 m/s?

(4) —-5m/s?, 1.6 m/s% 5 m/s?

. Two bodies A and B having masses 2 kg

and 4 kg respectively are separated by
2m. Where should a body of mass 1 kg be
placed so that the gravitational force on
this body due to A and B is zero ? -

1) 83m 2) 083 m

3) 38m 4) 038 m

10

124.

125.

CriGamiigsd Glesayd Guimmermsirmles
HosCos -sTo  amruLd &6y
Garhésin Gemsrg. OA, AB wmmrs BC

~st7 eufiG oG eflstr WHSESLD :
y
4
2
&g 15
-
A
)
2101
€5
v
@ o/
. . |
0 > X
0 2 4 6 8 10

&meuid ()

1) 5 0/ef2 0, -5 /a2
(2) —5u/e92 0, +5 i/ef?
(3) 5u/e? 1.6 Bi/ef?, —5 15/6d1?

4) -5 /a2 1.6 /a2 5 /02

2 &) Rsmmulsism A eteiry G LD 4 Sl
flempuister B eretry Gum@sEemm 2 LS
Ggmeneuallss NSl Perstg. 1 &
Hevp Gamswr @ GUT@mET 6THiG
ausslul LT uGurmefler g
A upgih B ~srmed Gaweon(id mmihued

ileme Lysouid 9@t ?
(1) 831 (2) 0831
3) 3815 4) 0385



126.

A ship of mass 3 x 107 kg initially at rest is
pulled by force of 5x10% N through a

- distance of 3 m. Assuming that the

127.

128.

resistance due to water is negligible the

speed of the ship is :
(1) 15m/s (2y 60 m/s
) 01m/s (4) 5m/s

An electric bulb is rated 220 V, 110 W.
When it is operated on 110 V, the power
consumed will be :

1) 55w 2 110 W
3) 2B5W 4 275 W
50 30
AN ANW—
| Led
& z
+7
| 1] — {0} —
16V

In the above electrical circuit, the readings
shown by the ammeter and voltmeter

are :

(1) 2A,10V 2) 32A,16V

@ TAAGY 4) 32A,10V

11

126.

127.

128.
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3x107 &) flemm QEmesorL. sLL 6Tl
spiliey BlsmeuufeSlpig) 5 x 104 N eflemerusor
31 gMrssnG Bussiubdng. Bi
THUESEID SmLmu UnSsasiliusns
TS SISO msiorLmsv, SliLisdletr Geusid :

1.5 W/efl 60 Li/ef

(1) (2)

0.1 /el 5 wi/efl

©) (4)

220V, 110 W eteargy Sml&&0u L 1hl6bT LisL|
6y, 110 V —60 @i Guripgl sl

TS 8ISISHTET(EHLD Sim6iT :
1) 55 W @) 110 W
@) 2BW 4) 275 W

I o

16V
CuGon Oar@ssiucL  sarsnmls,
QL woomh  GeumsdluF et
Ierai(\s6rT :
1) 2A,10V 2) 32A,16V
3) 2A,16V (4) 32A,10V
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129.

130.

131.

C
B
50

—i|+

20V

In the circuit shown the current in the

ammeter is :
(1) 5A (2) 4A
3) 15A 4) 8A

If 5 coulombs of charge flows through a
conductor in 2 seconds, then the number
of electrons flowing through a conductor
in one second approximately is :

30 x 1018 15 x 1018

(1)
(3)

(2)

6x1018 (4) 12x1018

A stone is dropped from the top of a tower
490 m high into a pond of water at the
base of the tower. The splash is heard after

(Given g=9.8 m/s?, speed of
sound =350 m/s)

(1) 11.4 sec (2) 10 sec

(3) 22.8 sec (4) 20 sec

12

129.

130.

131.

.
1015}2@/\1 10 Q)
B

50
+1 -

J1] —

20V

QarhissUu(sTeT Werammles ool L i

ST (1D ileorGeorm L S&Hl6or jeme -
1) 5A 2 4A
3) 15A 4 BA

sL&58 eerpler  euflrs  @reserH
ofleormigsefled 5 sogod  Wlswemmi L LD
umiiGsmes e efleormgeuilsy LS8\ suifliims
GlEsoayid sTeusLTmetTas6ifleor eTsvoTsusllSHemas
Gamymuoms :

(1) 15 1918

(3)

(2)
(4)

30 x 1018

6x 1018 12 x 1018

(M Sevsomsorgl 490 1 2 WITID 2 6T6T 63T
CaryrsHemEsl, Camyrs e
lgumSSled 2 6T @G  GSTSS6D
CuTiL@HDG. Sibs TSSO eTeuaIaTe
Cprssng UYng GCslsuu@dog ?
(Qar@ssiul@sterg g=9.8 u/af?,
speOluflstT Geussin =350 i/ail)

114 i 10 o)

1
)

(2)

22.8 &) (4) 20 &f



132. Infrasound can be heard by :

133.

134.

(1)
©)

Among the statements which is/are

dog (2) bat

rhinoceros (4) tiger

correct ?

Acceleration due to gravity :

(a)

(b)

decreases from equator to poles

decreases from poles to equator

is maximum at the centre of the
earth

(a) only
(b) and (c) only
(c) only

(b) only

An element “X” has six electrons in the
“M” shell. It belongs to :

31 period, 16t group
21d period, 14% group
3t period, 13 group

nd i th
2™ period, 15" group

13
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. @enreSlemw ks allonidlarma Csis

(LpigiLtd ?
(1) mmi (2)  Glsusmeumsy

(3) eomsmorLmbAm®HD (4) L6l

. &0 Mol @earer sommseaflsy eTg/

sTemeu &ifl ?
LeSIFFTLL (P(HS SHLomeoT ) -

(a) wwsHU Cravsuledimphe SidHaIbD
GFsven lgshen Gsmmeng

(b)  sieoumsafdlebg,  Lwdd
Crensd @ Glassn Gl Gemnding)

(c)  uefullssr emiowig s GupLolomESLD

1) (@) wlG
(2)  (b) i (c) b
(3) (©wGd

(4 (b) wi b

. UX” eterm Seoflod M7 Satlg6d uml

6TEUSL_ 6T 6MENTLL QILIMMIETETS;). o5& 60fILoib
steusufleng, 6Thg CgT@dlulsn o sramg ?

(1) 3 -eug auflena, 16 —6ugy) amGH
(2) 2 -eug suflems, 14 ~oug) Ger@d
(3) 3 -oug auflens, 13 ~sug GerEs!

(4) 2 -sug suflens, 15 ~6ugy GsmEd
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135.

136.

137.

Pick out the Isobar pair. 135.

(1 HL, H?
(2) %, ;N
(3) 1,CI%, ,C1¥7

@) gAr%0, ,,Catl

An example of a homo atomic molecule 136.

is

(1) Ozone

(2) Ammonia
(3) Methane

(4) Sulphur di oxide

Identify the wrong statement in the 137.

following :

(1) Sodium benzoate is used as food

preservative.

(2)  Sulphuric acid is called as the ‘King
of Chemicals’.

(3) The pH of acid is equal to 7.

(4) Curd contains lactic acid.

14

snGerum @lsmemTems CoihEHH\SS L.
1 H, B2

@) CB, N

3) ,Ci%, CIP7

4) pArd0, 5 Ca0

25% I PSS NG THSSHS
SI(h :

(1)  eGamsr
(2)  o|Gromevfiwum
(3) Gz

(4) ssul — oL~ e

SPSSETTLUDMIET SEUDTET S MENDS
SetT(HL N S a L.

(1) Gemguin QuerGerGuil srarug)
o soreill UTGSTIiurel s

LB Ema.

2) shss fieod, “GCaudHoburgml
safletT grgen” sTemTm o|emLps sl
LhEms). '

(3)  ouflosdstr pH i 7 —&&& soid.

(4)  sulifles ordigs yblevid o_aTaTgL.



138.

139.

140.

The metal present in chlorophyll is :

Al Fe

(1) (2)

Zn

() Mg

(4)

The hardening of plaster of paris on
reaction with water is due to the formation
of :
(1) CaSO,.H,0

(2) CaSO,.2H,0

3
(8) CaSO, 7 H0

1
(4) CaSO, 5 H,0

Foul-smelling of eatables prepared by using
oil and fat is due to :

(1) reaction with Nitrogen in air
reaction with CO, in air

reaction with sulphur di oxide in air

reaction with oxygen in air

15

138.

139.

140.

(3)
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L&EmELSS6L sremTiiLibid 2 Geomsin :

Al Fe

(1) (2)

Zn

() Mg

(4)

urifev  srhgimen  BmpLer  GCoisg
Slg suT1L(h & GILb Gurg) TMLHILD
eflemamrGlLm(psT :

(1) CaSO,H,O

(2) CaSO,.2H,0

3
CaSO,. H,0

1
H,0

CaSO,. 5

sT600T Gl6mTids LoMMitd Gl mgii) LiLsTLI(H S
SlemruerL misafled  gimrHmn  ofes
SITIT600TLO

1)

STHME 2 6T6T  eMHLFEQ L 63T

aflemeurifleugmsy
srodles  osrer CO, 2 L6
elsmentLiflsugmey

(3) oTmplev 2 eTeT  Feour  emL
Iy semer(bisar elemsaniflaugmsy

(4) &,rr‘r_ijgj]ﬁ) 2 66 Sy S leami_str eflsmenr
Lifleugmsd
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141,

142.

143.

Magnesium ribbon starts floating when it
is placed in hot water. Why ?

(1) Light metal

(2) Highly reactive

(3) Hydrogen gas stick at the bottom of
the metal

(4) Neither light nor heavy

Common Hydrogen is also called as :
(1) Protium atom

(2) Deuterium atom

(3) Tritium atom

(4) None of the above

Arrange the following in the increasing

order of forces of attraction :
(1) water, air, sugar

(2) O, H)O, sugar

(3) salt, air, fruit juice

(4) sugar, oil, air

16

141.

142.

143.

Quéeafflwn wrimamer mLmer Hifls
DeUSHGLCLTE) LSS SME). 67601 ?

(1) @Cosmar 2 Gorsi.
(2) o¥ls aflemerdlmenr.

(3) emeamLliymer 6Tl 2 GorssSdle
Iltgiled L tg H0lETETSME)

(4) @GevareaTgId 6050, SHEUTLOMEITGILD
D6V6V.

STSMyewT snamL_resuilsr whelmmm Gl :
(1) uGrmipuith 9jgmm)

@) gl gjem)

(3)  1pfiipunb gy

(4) Gume. i sTgieblevemey

ridy eflemsullemser gy&lemiy wpempuiled
auflemslIL(HS81%.

(1) B, sy, FTSSMIT
(2) O, H)0O, siisaemr
(3) 2, s, upEFsTm)

(4) &rssr, evrblemiil, Srmm)




l60

144. The lonic compounds are solids at room

145.

temperature on account of :

(1)

electrostatic force between the

opposite ions

electrostatic force between the same

ions

weak intermolecular forces between

opposite ions

both electrostatic and intermolecular

force between the opposite ions.

The rate of Chemical reaction depends

on :

(1)

(2)

absence of Catalyst

greater the surface area of the
reactant

decrease in temperature

low concentration of the reactant

17
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144. gemm Gelbleneouiles guissflEGaTomssT
SlL_flemeoufled @)(m&e Smremid :

@

(4)

145. Geudlallensorullsar

st 9wl6fl & 6m & lew L Guuswimeor
flemev ilsorenfiisy saui&dleilene

G 9|wefls Ems Sleml Cuiwmesr
Hlemev Lhlsareufliueh Seunéd) eflsme

T 9)wi6nfls 61 & hlem L Gl et
QUMM CLPSVS EnMIEN6mE

st wenfls em & Hem_ Guiwmer
Hemeuifleresfltey seurdd ellems
LHNID  QUINIEIDM eGS0 ellsns

Cousin  THmeTs

SMhSHS ?

(1)

(2)

©)

(4)

eflemeoTiLy &l ymm Hlsmeo
Gleutiitlemen @anmﬂu

sflsmesru(®  Glumafler ymoLriy
el

aflsmeru®  Qur@meflsr  Gadley
(GLULS
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146.

147.

The best method to detect and identify of
the drugs present in the blood of criminals

in Forensic Science is :

(1)  Sublimation

(2) Evaporation

(3) Chromatography
(4) Filtration

Match the following :
Column - II

Column ~ 1

Seed borne disease (i)  Blast of rice

Soil borne disease (ii)  Bacterial blight
of rice

Air borne disease (iii) Leaf spot of rice

Water borne @iv) Tikka disease of

disease groundnut

(1) (@)=, (b)-(iv), (€)~(), (d)-(D)

() (@)-(iid), (b)-(1), (©)-(v), (d)-(iD)
(3 (@)-), ®)-(it), (©)-(v), (d)-()

@) (@)-0), B)-(i), (0)-(it), (d)-@iv)

18

146. sLwellwe gymiediuedley @mnmeursflseflsr
@rsss5de GosGL LEHSISMTS
Sevot_ltd 16l& Fliphg el :

(1)  uUsBISLTSD

(2 oyeflurge

(3) sustremETLSflema
(4) oSS

147, QUTHSS5.

afleng ~ 1 auflemes — II

(a) eflems eLpsuln i)  Qmevedledr
LFe D Gmmi @lemevLijsirer) Gyl

(b) toevoreLpeutd LiFeLD (i)  GImevsdlsaT LISl
Grymil LY RE

(c) &mmmieLpsoLD (iil)  Glmsvedlsdr Gleuiiy
ugeyn Grmil Grpmil

(d) Bifepeod LTaLD '(iv) HlevdsL_smevudlesr
Grmi EiemsoLijsirafl Grmi
(1) (@), (0)-(iv), (©-0), (d)~(iD)

()-(iii), (b)-(1), (¢)~(iv), (d)-(1))
(@)-(i1), (b)-(iit), (c)~(iv), (d)-(i)

(@)-(1), (b)-(ii), (c)-(iii), (d)-(iv)
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148. Observe the diagram given below. Read

the question and select the correct answer.

Which gives the nourishment for the
developing embryo sac ?

After fertilization, which develops
into a seed coat ?

Name the nuclei which face towards
the chalazal end.

When a soaked seed is pressed, the
water oozes out through

Nucellus, Integuments, Micropyle,
Antipodals

Antipodals, Micropyle, Nucellus,
Integuments :

Integuments, Nucellus, Antipodals,
Micropyle

Nucellus, Integuments, Antipodals,
Micropyle

148.
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149.

150.

Soil contains decomposed matter. Plants
that grow from the soil absorb nutrient
elements. When we eat the plants, the
nutrients enter into our body. After our
death, when our body are buried into the
soil, our body will become decomposed
matter. This cyclic process refers to :

(1) Life cycle

(2) Bio-Geo Chemical cycle
(3) Biological cycle
(4) Geological cycle

Choose the correct series of life cycle of
malarial parasite.

Eporozoites present

in Saliva of mosquito \v

(1) A - Life cycle in human liver
B - Life cycle in erythrocytes
C - Sucking of gametocytes by

mosquito

D - Life cycle in the body of mosquito
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@)

)

A - Life cycle in erythrocytes

B - Life cycle in human liver

C - Sucking of gametocytes by

mosquito

2)

D - Life cycle in the body of mosquito

A - Life cycle in erythrocyfes
B - Sucking of gametocytes by
mosquito
C - Life cycle in the body of mosquito
D - Life cycle in human liver
A - Life cycle in the body of mosquito
B - Life cycle in erythrocytes
C - Sucking of gametocytes by

mosquito

D - Life cycle in human liver
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151.

152.

153.

Find out the true and false statements from
the following :

(2)

Pepo is developed from tricarpellary

ovary

(b) Drupe is developed from
pentacarpellary ovary

() Pome is called a pseudofruit

(d) Hesperidium is developed from
multicarpellary ovary

(1) (a) true (b) false

(c) true (d) false

(2) (a) true (b) false
(c) true (d) true

(3) (a) false (b) true
(c) false (d) true

4) (a) false (b) false
(c) true (d) true

Choose the incorrect pair.
(1)
(2)
®)

Stomata - transpiration
Osmosis~Semi permeable membrane
Guard Cells - Potassium ions

4)

Exosmosis - Turgidity

Assertion (A) :
Mule is the product of inter specific

~hybridization.

Reason (R) :
Mule is produced from cross between

- female donkey and male horse.

1)
(2)
)
4)

(A) is correct ; (R) is wrong
Both (A) and (R) are correct
(A) is wrong and (R) is correct
Both (A) and (R) are wrong
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Sjwissfiaer
4) Geusfléssy - Gl&sd afsmmiLTge
ap(hLTasH
syl (A) :
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B)  (A) s upgid (R) &l

(4)  (A) whpid (R) GremGEo oy
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Centipede and earthworms have a
segmented body, but they are in two
different phyla. Identify the phyla they
belong to.

(1)  Arthropoda and Annelida

(2) Arthropoda and Aschelminthes

(3) Annelida and Aschelminthes

None of the above

(4)

Lysosomes are considered as suicidal bags

of cell. The reason is:

(1)

Lysosomes contain poison required
to kill the cell.

Lysosomes contain lytic enzyme to
digest the whole cell content.

Lysosomes contain genes to stop
cellular activities.

Lysosomes do not permit oxidation

(4)

process of the cell.
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156.

157.

Pick out the items which has sequential

arrangement.

M)

Zygotene — Leptotene — Pachytene
— Diplotene — Diakinesis

Diakinesis — Zygotene — Leptotene
— Pachytene — Diplotene

®)

Leptotene — Zygotene — Pachytene
— Diplotene — Diakinesis

(4)

Leptotene — Pachytene — Diplotene
~ Diakinesis — Zygotene

Assertion (A) :

The pituitary gland is called as ‘the
Conductor of Endocrine Orchestra’.

Reason (R) :

The pituitary gland regulates the other
endocrine glands.

(1) Both (A) and (R) are true and (R)

explains (A)

(2) Both (A) and (R) are true but (R)

doesn’t explain (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true
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| 159.

The parental genotypes are BBXbb. The
probability of having bb genotype in the
F1 generation is :

(1)
(3)

25% 2) 50%

75% @) 0%

Which of the following statement is not
correct about vasopressin hormone ?

(1)

It constricts the blood vessels and
raises the blood pressure.

(2) Vasopressin helps in the

reabsorption of water.

(3) Itsless production results in diabetes
msipidus.
It dilates the blood vessels and raises

(4)

the blood pressure.

. Subsequent generations show greater

improvement in genetic characters. It is
seen in higher animals particularly. This
is due to :

(1)

crossing over process of sexual
reproduction.

living in an area for many

generations.

due to pressure for improvement of
characters from peers.

asexual reproduction brings

improvement.
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SOCIAL SCIENCE / &¢p& mleSlwiev

161. Arrange the following events in

162.

163.

chronological order :

(@)

(b)
)
d)

(
(
(1
(
3

)
2)
)
)

(4

The League of Free Nations

Association

The League of Nations Society

The League of Nations

The World League for peace

Who was the designer of Indian National
Flag ?

1)

The

Bankim Chandra Chatterjee
Rabindranath Tagore
Pinkali Venkayya

Bipin Chandra Pal

famous monument built to

commemorate the end of plague in India

in the year 1591.

Buland Darwaza
Charminar

Gol Gumbaz

Gol Konda
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164.

165.

166.

167.

Who was known as ‘The Heroine of Quit

India Movement’ ?

Sucheta Kriplani
Sarojini Naidu

Jhansi Rani Lakshmi Bai

Aruna Asaf Ali

Name the Greek philosopher who was the
teacher of Alexander the Great and the
student of Plato.

(1)
©)

Aristotle Socrates

(2)
)

Democritus Pythagoras

Which is called the ‘Cradle of Indian
Temple Architecture” ?

(1) Ajanta

(2) Ellora

(3) Aihole

(4) Chithannavasal

Rabindranath Tagore surrendered his
‘Knighthood’ to the British after the event
of :

Jallianwalabagh Massacre
Surat Split
Chouri Chaura Incident

Non Cooperation Movement
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168. The dead bodies were preserved by the

169,

170.

[aey

Egyptians using Natron salt. Its main

constituents are

1

bicarbonate

Sodium carbonate and sodium

Sodium carbonate and sodium

(2)

acetate

Sodium bicarbonate and sodium

benzoate

Sodium carbonate and sodium

phosphate

From which year Kamarajar’'s birthday is
celebrated as ‘Educational Development
Day” ? '

(1) 2005
@)

(2) 2006

2007 (4) 2008

The first Indian ruler who organized

- pilgrimage to Haj at the expense of the

state.
(1) Humayun (2) Babar
(3) Akbar (4) Jahangir

Name the war fought between the period
1912-14.

The Second Anglo Boer War
The Russian Civil War
First Balcan War

Jutland War
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172.

175.

Choose the incorrect pair.

Salem - Kolli hills
Villupuram - Kalvarayan hills
Trichy - Pachaimalai
Srivilliputhur - Sathuragiri hills

. Kayal goes to her grandpa’s place,

Coimbatore along with her sister. She says
about the type of soil in Coimbatore to her
sister. What is the type of soil ?

(1) Alluvial soil (2) Black soil

Laterite soil Red loams

(3) (4)

Appiko movement is synonymous to
Chipko movement started in :

(1) Kerala (2) Odisha

(3) Tamil Nadu (4) Karnataka

Which planet has its axis highly tilted ?

(1) Earth (2) Uranus

(3) Mars (4) Mercury
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176. Which famous pass, between India and . - 176. ik mﬁgjm FermailnE @emL_Gw 2 sTer

China was reopened for trade after S Uspllupm  seoreumi, 44
44 years ? L apLhsEméel ne amllesdhene
' ‘ fevar(pih el L g)?
(1) Nathu La (2) Shipki La | (1)  mrs e (2)  afud or
(3) Jelep La (4) Karakoram (3) seliar &) smGsmn
177. Minor ports are : R 177. &l glmmpein FTTLIE ;
(1) Tidal port B . _ (1) 2T DEmE) SHImMLPSLD
(2)  Anchorage port _ o (2) BRGTD uTiFand asg Glupm
| SlOPSL
(3) Duty free port (3) euflEFesms GLmy gjmm@pésf_b
(4) Entrepot port ' : (4). Qurger  Gefldg oyl
| ' © simpysid

178. Which Wildlife Reserve in India was  178. usSisafler sretorsmilmamiu UTgSTH@I

started in 1974 to protect Tiger population ? - Qg 1974 b sy6er(h @ibShurails
/ Qam_misiul L ausTelloomig urgismiid

(1) Ranthambore National Park N (1) gussrgGurt Ce&hu LmisT

(2) Bandipur National Park @) | ListoTig LT GG LLRIGHT

(3)  Jim Corbet National Park C (8) | oo sl Gt Lmisi

(4) Kanha Tiger Reserve = = (4) - sraTamT yeSlest LTgISmnil b
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179.

180.

Identify the rivers marked in the above
map of India.

(1) = (a) Yamuna, (b) Mahanadi,
- (c) Krishna :
(2) (a) Ganga, (b) Mahanadi,
(c) Krishna
(3) (a) Narmada, (b) Godavari,
(c) Tapti
4) (a Brahmaputra, (b) Ganga,

() Mahanadi

Which instrument is used to measure wind

speed ?

(1) Hygrometer
(2) Beaufort scale
3) Wind Véne
(4) Bolometer
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(2)
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181. What were the old names of Zambia and
Zimbabwe ?

1)

(2)

(4)

North West Africa and South West
Africa

Aberdeen and Abyssinia

Northern Rhodesia and Southern
Rhodesia

British Honduras and Bechuanaland

182. Which of the following statement(s) is/ are
correct ?

(@)

(b)

1)

(2)

Red and yellow soils develop a
reddish colour due to diffusion of
magnesium in crystalline and
metamorphic rocks.

Black Soils are generally rich in
phosphoric content.

(a) only

(b) only

(a) and (b)

none
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181.

182.

somo§hwr pmid sfiiouriiCas gyéu @i
Er(Oseflsr Lemipwl GlLiLiasT wireney ?
LML

1) o Gune ufissr

Qz6TGLnEG Lifl&HasT
(2)  oEuesT LOHID g ilEFeflur

QIL&E Crmenfiur LHEID O5HE
Girmendur

)

Afiligsv CammsirGirrsv wHm)
QUG SEUITEBTIT SOMETETL

letreu(mLd snmnyisserfled 618/ sTemer &fl sveor
SITEHOTS.

Ulgd Lommid @ mompfhu urenmssf
Gu&efdiu urauedledT smrsmwrn
oy WHNID WEHSET LoGTIT
Qamhinn Cararyiding.

(@)

sflgsy  wevwremiled  GUT G
umsrouirilss &gt HenmbaisiTem .

(b)

(a) L (LD

(b) (D

- () s (b)

sTg I flsosmen



@G 183

(@)

DOILDS o)

(©

wd
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BTLOIT:
mr6o6fl
L
g_\.

. Match the following :

Bandung conference (i) 1968
Non Proliferation Treaty (i) 1996
Nuclear Test Ban Treaty (i) 1963
Comprehensive Nuclear (iv) 1955

Test Ban Treaty

(@)-(iv), (b)~(i), (c)-(iii), (d)-(i1)
(a)-(iid), (b)-(id), (c)~(1), ()~(iv)
(a)=(1v), (b)-(iii), (c)-(ii), (d)-(1)
(a)-(ii), (b)~(iv), (c)-(id), (d)-(3)

. Pick out the wrong statement about

Principles of Pancha Sheel.

(1)

(4)

Each country should respect the
territorial integrity and sovereignty
of others.

People’s representative should be
elected through election.

No one should try to interfere in the
internal affairs of others.

All country shall strive for equality
and mutual benefits.
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183. QUTREEHI.

(@)

(b)

(c)

(d)

184.

L6t (B LB (R () 1968
%u;g,un'suéiﬁ S(HL (i) 1996
9 | 6iTLllg S
S5 GFTHEmEDT () 1963
GEVLE EFLLID
Q@i aem) Gergsmer  (iv) 1955

FEOL.& &LLLD

(a)-(iv), (b)=(1), (c)-(it), (d)-(if)
(a)~(iid), (B)~(id), (c)-(i), (d)~(iv)
(a)-(iv), (b)=(iid), (c)-(t), (d)-(0)

(a)-(i), (b)-(iv), ()-{its), (d)-()

UeredFs Glamaas umdli eaumrer
Geond CarhosHSSnLD.

(1)

(2)

)

QeuGlaurg BreW Np BrEsefsr
ML WLHMIED [@eDmILITETTsmLIFmIL
w&lee Gaussor(hild.

waser UrdlflHlssr Gaisa epmld
Cam@s(RGaiuL Couemr(Hin.

R Erilpsr 2 6ETLR  aflal-
ammisaflsy, Un prhseT Semeudl_d
Gl g

D) 6067 5 Gl :r_r,rr(bﬁaa@ﬁﬂ) &L0& &) aULD
whmd  ugsouy BRI

ClaTeammemss  Coustor(his.
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185.

186.

187.

Who is the India’s first transgender Judge
in Lok Adalat ?

(1) Joyita Mondal

(2) Swathi Bidhan Baruah

771y

(3) ©Sathyasri Sharmila

{4) Prithika Yashini

Pick the odd man out.

(1) India

(2) Britain

(3) Spain

(4) Saudi Arabia

Find the correct statement :
Statement (A) :

The Supreme Court cannot interfere in the
judgements declared by the Military
Tribunals.

Statement (B) :

Appeal can be taken from Military

Tribunals to Supreme Court.

(1) (A) and (B) are correct
(2)  (B) is correct
(3) (A) is correct
(4)  (A) and (B) are wrong
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186.

187.

@nShwmellesr (Bsu.rre'ﬁ IIHTVSEH6T (LPS6t

Smmhieng HHlUS w2

(1) Geomuilgm Loevori_sb

(2)  sveurd Sl medr Liemeum
(3) &swf agmdlerr

@) ufsder wrade

QuIrBpEsTEmEs CsiHEblsH S sLD.

(1) @iHur
@) 9 Lebr
3) oG
4) &g oG

gifluresr swmflener SetorOWilpS&aD :

s o (A) :

@rremiens SriumuBisefle gifielss
utL  Srdysefle 2 Fefdlueary
SemeuiiL(Lig LTS,

s.omi (B) :

Erremieg Sruumubiseflsi S Ems:
sHrTes 2 FefdluarmsHa  Gue
peopui® Glabi (pigiub.

(1) (A) wip (8) &
2)  (B) w (i &1

() (A)w’ G e

4 (A) wpgid (B) soum
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191.

Who has the authority to give suggestions
to the president on politically legal
problems ?

1) Supreme Court
2) Parliament
Prime Minister

4) Governor

615t amendment of the Constitution Act
of _____ haslowered the voting age
from 21 years to 18 years.

1998
1968

1978
1988

(1)
(3)

(2)
(4)

Which two countries got independence in
the year 1971 ?

(1)

Camerocon and Seychelles

(2) Bangladesh and Bahrain
(3) Bahamas and Mozambique
(4) Fiji and Papua New Guinea

Which of the following is not an example
of an exercise of a fundamental right ?

(1)

Religious missionaries set up schools

Businessman from Tamil Nadu sets

(2)
up a restaurant in Assam

(3) An accused engages a lawyer to

defend his case

A worker forced to render a free

service.
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grflwe sl nirésmear GarLrurs,
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(2)  LMT(EHLOGTMLD
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i gy svor(h) SyrSliLevemioliLé
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SODSSLILIL L.
(1) 1998 2) 1978
(3) 1968 (4) 1988
e @@ Brosst 1971 —1b gy etor ()

GSHEHTD Cummssr ?

(1)  Gsloemesr wHmid GlEassen

(2) e GHELD LOHMID LIOMEDTSIT

(3) uammarey ommih Ghorsmsiis

(4) el opmid viuer HuySlesfhum

SGTLDMIET & IjpliusmL

2 flsmosaflsy @lsuemeu ?

1) ws gewouysst  usTaflsamer
E-531H60

(2) sflps efwrurfl  gsosumde
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TSI ep&SS0lEhemr Ehufls s
@ Gsrflaraflow @laigors
el Ll sCm uHSSige.
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192. Choose the two sovereign countries where

193.

194.

195.

Tamil is the official language.

1)
(2)
(3)
(4)

Srilanka, Singapore
Srilanka, Malaysia
Singapore, Mauritius

Malaysia, Singapore

Which Chief Justice of India has acted as
the Acting President of India ?

(1) T.S. Thakur

(2) Mohammad Hidayatullah
(8) Ranganath Mishra

(4) Mirza Hameedullah Beg

The First Woman Chairperson of SBI :
(1) Arundhati Bhattacharya
(2) Rekha Sharma

(
(

—

3

~—r

Girija Vyas
4) Jayanthi Patnaik

Which is the tenth largest stock exchange
in the world and oldest stock exchange in
South Asia ?

(1) National Stock Exchange
(2) Madras Stock Exchange

(3) Bombay Stock Exchange
(

4) Calcutta Stock Exchange
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193.

194.

195.

sulenyp Ijaieuns Glomflurss Ggmetor,

@l etor () aghdly  prOsmars
GCoimblsHissa|n.

(1)
2
©)
4)

WheurkisT, AmislLL T
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LoGeodhuim, fmisLi i
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(1) TS. gwsat

(2)  Wsiwg ablBLSgieam
(3)  TRSETS LilsromT

(4) fimeror emigiesuT QLS
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Grasm egriom
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(1) GCoflu ukiGSFsHms
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(3)  ubumil UkIGESHMS
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196. Which Finance Minister has presented the

maximum number of union budgets ?

(1) Pranab Mukherjee
(2) Morarji Desai

(3) Yashwant Sinha
(4) P. Chidambaram

197. Expand - FERA :

(1) Foreign Exchange and Resources

Act

(2) Financial Exchange Regulation Act

(3) Fiscal Exchange Reserves Act -

(4) Foreign Exchange Regulation Act

198. Percapita income is calculated by :

Total Population

) Gross Domestic Product

Total Population

(2) National Income

National Income

©) Total Population

Gross Domestic Product

@) Total Population

196.

197.

198.
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wssflwstr L Glspl 6oL gyl (pemvm ST
Qalig Bl gsonge wri ?

(1) dlyeorm paiedl
(2) Glomymied) Ggemil
(3) weveunEs FeramT

(4) u. A urd

FERA- efiflour&aih &,

(1) Foreign Exchange and Resources
Act

(2) Financial Exchange Regulation Act
(3) Fiscal Exchange Reserves Act

(4) Foreign Exchange Regulation Act

G6UIT 6L(TLOT6BTLD 6TEATLIG, :

Qurss s Ggmms

D Qurse o dmsm G 2 Hus

Orss WS Gpmms

()

BT (h 6U(THLOMETTLD

BT (B 61 (I5LOT6YTLD

Grss wWE ST CaTms

QLTés 2 6mEm 6 2 HLSS

Clursg waset Clgmens
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199. MGNREGA 2005 guarantees : 199. MGNREGA 2005 srem i Lib sT8HE
2 S&lreursin gjeflsding: ?
(1)  Emancipation of women - (1) Guenrser 2 iflsmio
(2)  Child upliftment (2)  GUHDSSET (PerGeTHmid
(3) 100 days of employment (3) 100 mmsir Geusmevsumilny
(4) Minimum support price for farmers (4) efeusmisEndE GONbESULE
LBy edlemen

200. State Bank of India before Nationalisation 200. Gaduorasn@ ety umrs sl

was known as : QRIS sTelUTD) mPSSHILLL &) ?

(1)  General Bank of India 1) urrs QuTg) ek

(2) Bank of Hindustan (2) @hgleusTeT sk

(3) Grand Bank (3) Syl suriieh)

{(4) Imperial Bank of India (4) umrs @loisthue aukid
-olo- -0o0o-
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